RESEARCH

Open Access

Sampling theorems for Sturm-Liouville problem with moving discontinuity points

Fatma Hıra^{*} and Nihat Altınışık

*Correspondence: fatma.hira@omu.edu.tr Department of Mathematics, Faculty of Arts and Sciences, Ondokuz Mayıs University, Samsun, 55139, Turkey

Abstract

In this paper, we investigate the sampling analysis for a new Sturm-Liouville problem with symmetrically located discontinuities which are defined depending on a parameter in a neighborhood of a midpoint of the interval. Also the problem has transmission conditions at these points of discontinuity and includes an eigenparameter in a boundary condition. We establish briefly the relations needed for the derivations of the sampling theorems and construct the Green's function for the problem. Then we derive sampling representations for the solutions and Green's functions.

MSC: 34B24; 34B27; 94A20

Keywords: sampling theory; moving discontinuity point; discontinuous Sturm-Liouville problem; Green's function

1 Introduction

We consider the following Sturm-Liouville problem:

$$\tau(u) := -u'' + q(x)u = \lambda u, \quad x \in I, \tag{1.1}$$

with one of the boundary conditions including an eigenparameter:

$$B_a(u) := \beta_1 u(a) + \beta_2 u'(a) = 0, \tag{1.2}$$

$$B_b(u) := \lambda \left(\alpha'_1 u(b) - \alpha'_2 u'(b) \right) + \left(\alpha_1 u(b) - \alpha_2 u'(b) \right) = 0, \tag{1.3}$$

and transmission conditions at two points of discontinuity, $\theta_{-\varepsilon}$ and $\theta_{+\varepsilon}$:

$$T_{-\varepsilon}(u) := u(\theta_{-\varepsilon} -) - \delta u(\theta_{-\varepsilon} +) = 0, \qquad (1.4)$$

$$T'_{-\varepsilon}(u) := u'(\theta_{-\varepsilon} -) - \delta u'(\theta_{-\varepsilon} +) = 0, \tag{1.5}$$

$$T_{+\varepsilon}(u) := \delta u(\theta_{+\varepsilon} -) - \gamma u(\theta_{+\varepsilon} +) = 0, \qquad (1.6)$$

$$T'_{+\varepsilon}(u) := \delta u'(\theta_{+\varepsilon} -) - \gamma u'(\theta_{+\varepsilon} +) = 0, \qquad (1.7)$$

where $I := [a, \theta_{-\varepsilon}) \cup (\theta_{-\varepsilon}, \theta_{+\varepsilon}) \cup (\theta_{+\varepsilon}, b]$; λ is a complex spectral parameter; q(x) is a given real valued function which is continuous in $[a, \theta_{-\varepsilon})$, $(\theta_{-\varepsilon}, \theta_{+\varepsilon})$, and $(\theta_{+\varepsilon}, b]$ and has finite

© 2014 Hıra and Altınışık; licensee Springer. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly credited.



limits $q(\theta_{-\varepsilon}\pm)$, $q(\theta_{+\varepsilon}\pm)$; $\beta_i, \alpha_i, \alpha'_i, \delta, \gamma \in \mathbb{R}$ (i = 1, 2); $|\beta_1| + |\beta_2| \neq 0$, $\delta, \gamma \neq 0$; $\theta := (a + b)/2$; $\theta_{\pm\varepsilon}\pm := (\theta \pm \varepsilon) \pm 0$; $0 < \varepsilon < (b - a)/2$, and

 $\rho := \left(\alpha_1'\alpha_2 - \alpha_1\alpha_2'\right) > 0.$

In the literature, the Whittaker-Kotel'nikov-Shannon (WKS) sampling theorem and generalization of the WKS sampling theorem (see [1-3]) has been investigated extensively (see also [4-8]). Sampling theorems associated with Sturm-Liouville problems were investigated in [9-13]. Also, [14-17] and [18-21] are for example works in the direction of sampling analysis for continuous and discontinuous eigenproblems, respectively. The sampling series associated with strings were investigated and one compared them with those associated with Sturm-Liouville problems in [20]. In [21] the author studied the sampling analysis for the discontinuous Sturm-Liouville problem which had transmission conditions at one point of discontinuity and contained an eigenparameter in two boundary conditions. In the present paper, we derive sampling theorems associated with a new Sturm-Liouville problem with moving discontinuity points. The problem studied in this paper was presented in more detail for the first time in [22]. The problem has symmetrically located discontinuities which are defined depending on a parameter in a neighborhood of the midpoint of the interval and with an eigenparameter appearing in a boundary condition. There are many published works on sampling theorems associated with different types of generalized Sturm-Liouville boundary value problems, but the present paper deals with a case that has not been studied before. To derive sampling theorems for the problem (1.1)-(1.7), we establish briefly some spectral properties and construct the Green's function of the problem (1.1)-(1.7). Then we derive two sampling theorems using solutions and the Green's function, respectively.

2 An operator formulation and asymptotic formulas

Some properties of the eigenvalues and asymptotic formulas for the eigenvalues and the corresponding eigenfunctions for the same problem were given in [22]. We state the results briefly in this section.

To formulate a theoretic approach to the problem (1.1)-(1.7) we define a Hilbert space $H := L_2(a, b) \oplus \mathbb{C}$ with an inner product

$$\left\langle f(\cdot), g(\cdot) \right\rangle_{H} := \int_{a}^{\theta_{-\varepsilon}} f(x)\overline{g}(x) \, dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} f(x)\overline{g}(x) \, dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} f(x)\overline{g}(x) \, dx + \frac{\gamma^{2}}{\rho} h\overline{k},$$

$$(2.1)$$

where $f(x) = \binom{f(x)}{h}$, $g(x) = \binom{g(x)}{k} \in H$, $f(\cdot), g(\cdot) \in L_2(a, b)$, $h, k \in \mathbb{C}$. For convenience we put

$$R(u) := \alpha_1 u(b) - \alpha_2 u'(b), \qquad R'(u) := \alpha'_1 u(b) - \alpha'_2 u'(b).$$
(2.2)

Let $D(A) \subseteq H$ be the set of all $f(x) = \binom{f(x)}{h} \in H$ such that f and f' are absolutely continuous on [a, b] and $\tau(f) \in L_2(a, b)$, h = R'(f), $B_a(f) = 0$, $T_{\pm \varepsilon}(f) = T'_{\pm \varepsilon}(f) = 0$. We define an operator $A : D(A) \to H$ by

$$A\begin{pmatrix}f(x)\\R'(f)\end{pmatrix} := \begin{pmatrix}\tau(f)\\-R(f)\end{pmatrix}, \quad \begin{pmatrix}f(x)\\R'(f)\end{pmatrix} \in D(A).$$

Thus, the operator $A: D(A) \rightarrow H$ is equivalent to the eigenvalue problem (1.1)-(1.7) in the sense that the eigenvalues of *A* are exactly those of the problem (1.1)-(1.7).

We can prove according to [23, 24] that *A* is symmetric in *H*, and all eigenvalues of the problem are real (see [22]).

Let $\phi_{\lambda}(\cdot)$ and $\chi_{\lambda}(\cdot)$ be two solutions of (1.1) as

$$\phi_{\lambda}(x) = \begin{cases} \phi_{-\varepsilon,\lambda}(x), & x \in [a, \theta_{-\varepsilon}), \\ \phi_{\varepsilon,\lambda}(x), & x \in (\theta_{-\varepsilon}, \theta_{+\varepsilon}), \\ \phi_{+\varepsilon,\lambda}(x), & x \in (\theta_{+\varepsilon}, b], \end{cases} \qquad \chi_{\lambda}(x) = \begin{cases} \chi_{-\varepsilon,\lambda}(x), & x \in [a, \theta_{-\varepsilon}), \\ \chi_{\varepsilon,\lambda}(x), & x \in (\theta_{-\varepsilon}, \theta_{+\varepsilon}), \\ \chi_{+\varepsilon,\lambda}(x), & x \in (\theta_{+\varepsilon}, b], \end{cases}$$

satisfying the following conditions, respectively:

$$\begin{split} \phi_{-\varepsilon,\lambda}(a) &= \beta_2, \qquad \phi_{-\varepsilon,\lambda}'(a) = -\beta_1, \\ \phi_{\varepsilon,\lambda}(\theta_{-\varepsilon}) &= \delta^{-1}\phi_{-\varepsilon,\lambda}(\theta_{-\varepsilon}-), \qquad \phi_{\varepsilon,\lambda}'(\theta_{-\varepsilon}) = \delta^{-1}\phi_{-\varepsilon,\lambda}'(\theta_{-\varepsilon}-), \\ \phi_{+\varepsilon,\lambda}(\theta_{+\varepsilon}) &= \delta\gamma^{-1}\phi_{\varepsilon,\lambda}(\theta_{+\varepsilon}-), \qquad \phi_{+\varepsilon,\lambda}'(\theta_{+\varepsilon}) = \delta\gamma^{-1}\phi_{\varepsilon,\lambda}'(\theta_{+\varepsilon}-), \end{split}$$
(2.3)

and

$$\chi_{+\varepsilon,\lambda}(b) = \lambda \alpha'_{2} + \alpha_{2}, \qquad \chi'_{+\varepsilon,\lambda}(b) = \lambda \alpha'_{1} + \alpha_{1},$$

$$\chi_{\varepsilon,\lambda}(\theta_{+\varepsilon}) = \gamma \delta^{-1} \chi_{+\varepsilon,\lambda}(\theta_{+\varepsilon}+), \qquad \chi'_{\varepsilon,\lambda}(\theta_{+\varepsilon}) = \gamma \delta^{-1} \chi'_{+\varepsilon,\lambda}(\theta_{+\varepsilon}+),$$

$$\chi_{-\varepsilon,\lambda}(\theta_{-\varepsilon}) = \delta \chi_{\varepsilon,\lambda}(\theta_{-\varepsilon}+), \qquad \chi'_{-\varepsilon,\lambda}(\theta_{-\varepsilon}) = \delta \chi'_{\varepsilon,\lambda}(\theta_{-\varepsilon}+).$$
(2.4)

These functions are entire in λ for all $x \in I$.

Let $W(\phi_{\lambda}, \chi_{\lambda}; x)$ be the Wronskian of $\phi_{\lambda}(x)$ and $\chi_{\lambda}(x)$ which is independent of x, since the coefficient of y' in (1.1) is zero. Let

$$\omega(\lambda) := W(\phi_{\lambda}, \chi_{\lambda}; x) = \phi_{\lambda}(x)\chi_{\lambda}'(x) - \phi_{\lambda}'(x)\chi_{\lambda}(x)$$
$$= \omega_{-\varepsilon}(\lambda) = \delta^{2}\omega_{\varepsilon}(\lambda) = \gamma^{2}\omega_{+\varepsilon}(\lambda).$$
(2.5)

Now, $\omega(\lambda)$ is an entire function of λ whose zeros are precisely the eigenvalues of the operator *A*. Using techniques similar to those established by Titchmarsh in [25], see also [22–24], the zeros of $\omega(\lambda)$ are real and simple and if λ_n , n = 0, 1, 2, ..., denote the zeros of $\omega(\lambda)$, then the two component vectors

$$\Phi_n(x) := \begin{pmatrix} \phi_{\lambda_n}(x) \\ R'(\phi_{\lambda_n}) \end{pmatrix}$$

are the corresponding eigenvectors of the operator A satisfying the orthogonality relation

$$\langle \Phi_n(\cdot), \Phi_m(\cdot) \rangle_H = 0, \text{ for } n \neq m.$$

Here $\{\phi_{\lambda_n}(\cdot)\}_{n=0}^{\infty}$ will be the sequence of eigenfunctions of the problem (1.1)-(1.7) corresponding to the eigenvalues $\{\lambda_n\}_{n=0}^{\infty}$ and we denote by $\Psi_n(x)$ the normalized eigenvectors of *A*, *i.e.*;

$$\Psi_n(x) := \frac{\Phi_n(x)}{\|\Phi_n(\cdot)\|_H} = \begin{pmatrix} \Psi_n(x) \\ R'(\Psi_n) \end{pmatrix}.$$

$$\chi_{\lambda_n}(x) = k_n \phi_{\lambda_n}(x), \quad x \in I, n = 0, 1, 2, \dots$$
 (2.6)

 $\phi_{\lambda}(\cdot)$ is the solution determined by (2.3) so, the following integral equations hold for k = 0 and k = 1:

$$\begin{split} \frac{d^{k}}{dx^{k}}\phi_{-\varepsilon,\lambda}(x) &= \beta_{2}\frac{d^{k}}{dx^{k}}\cos\left(\sqrt{\lambda}(x-a)\right) - \frac{\beta_{1}}{\sqrt{\lambda}}\frac{d^{k}}{dx^{k}}\sin\left(\sqrt{\lambda}(x-a)\right) \\ &+ \frac{1}{\sqrt{\lambda}}\int_{a}^{x}\frac{d^{k}}{dx^{k}}\sin\left(\sqrt{\lambda}(x-y)\right)q(y)\phi_{-\varepsilon,\lambda}(y)\,dy, \\ \frac{d^{k}}{dx^{k}}\phi_{\varepsilon,\lambda}(x) &= \delta^{-1}\phi_{-\varepsilon,\lambda}(\theta_{-\varepsilon}-)\frac{d^{k}}{dx^{k}}\cos\left(\sqrt{\lambda}(x-\theta_{-\varepsilon})\right) \\ &+ \frac{\delta^{-1}}{\sqrt{\lambda}}\phi_{-\varepsilon,\lambda}'(\theta_{-\varepsilon}-)\frac{d^{k}}{dx^{k}}\sin\left(\sqrt{\lambda}(x-\theta_{-\varepsilon})\right) \\ &+ \frac{1}{\sqrt{\lambda}}\int_{\theta_{-\varepsilon}}^{x}\frac{d^{k}}{dx^{k}}\sin\left(\sqrt{\lambda}(x-y)\right)q(y)\phi_{\varepsilon,\lambda}(y)\,dy, \\ \frac{d^{k}}{dx^{k}}\phi_{+\varepsilon,\lambda}(x) &= \delta\gamma^{-1}\phi_{\varepsilon,\lambda}(\theta_{+\varepsilon}-)\frac{d^{k}}{dx^{k}}\cos\left(\sqrt{\lambda}(x-\theta_{+\varepsilon})\right) \\ &+ \frac{\delta\gamma^{-1}}{\sqrt{\lambda}}\phi_{\varepsilon,\lambda}'(\theta_{+\varepsilon}-)\frac{d^{k}}{dx^{k}}\sin\left(\sqrt{\lambda}(x-\theta_{+\varepsilon})\right) \\ &+ \frac{1}{\sqrt{\lambda}}\int_{\theta_{+\varepsilon}}^{x}\frac{d^{k}}{dx^{k}}\sin\left(\sqrt{\lambda}(x-\theta_{+\varepsilon})\right) \\ &+ \frac{1}{\sqrt{\lambda}}\int_{\theta_{+\varepsilon}}^{x}\frac{d^{k}}{dx^{k}}\sin\left(\sqrt{\lambda}(x-\theta_{+\varepsilon})\right)q(y)\phi_{+\varepsilon,\lambda}(y)\,dy, \end{split}$$

and $\phi_{\lambda}(\cdot)$ has the following asymptotic representations for $|\lambda| \to \infty$, which holds uniformly for $x \in I$:

$$\frac{d^{k}}{dx^{k}}\phi_{-\varepsilon,\lambda}(x) = \beta_{2}\frac{d^{k}}{dx^{k}}\cos(\sqrt{\lambda}(x-a)) + O(|\lambda|^{\frac{(k-1)}{2}}e^{|t|(x-a)}),$$

$$\frac{d^{k}}{dx^{k}}\phi_{\varepsilon,\lambda}(x) = \beta_{2}\delta^{-1}\frac{d^{k}}{dx^{k}}\cos(\sqrt{\lambda}(x-a)) + O(|\lambda|^{\frac{(k-1)}{2}}e^{|t|(x-a)}),$$

$$\frac{d^{k}}{dx^{k}}\phi_{+\varepsilon,\lambda}(x) = \beta_{2}\gamma^{-1}\frac{d^{k}}{dx^{k}}\cos(\sqrt{\lambda}(x-a)) + O(|\lambda|^{\frac{(k-1)}{2}}e^{|t|(x-a)}),$$
(2.7)

if $\beta_2 \neq 0$,

$$\frac{d^{k}}{dx^{k}}\phi_{-\varepsilon,\lambda}(x) = -\frac{\beta_{1}}{\sqrt{\lambda}}\frac{d^{k}}{dx^{k}}\sin(\sqrt{\lambda}(x-a)) + O(|\lambda|^{\frac{(k-2)}{2}}e^{|t|(x-a)}),$$

$$\frac{d^{k}}{dx^{k}}\phi_{\varepsilon,\lambda}(x) = -\frac{\beta_{1}\delta^{-1}}{\sqrt{\lambda}}\frac{d^{k}}{dx^{k}}\sin(\sqrt{\lambda}(x-a)) + O(|\lambda|^{\frac{(k-2)}{2}}e^{|t|(x-a)}),$$

$$\frac{d^{k}}{dx^{k}}\phi_{+\varepsilon,\lambda}(x) = -\frac{\beta_{1}\gamma^{-1}}{\sqrt{\lambda}}\frac{d^{k}}{dx^{k}}\sin(\sqrt{\lambda}(x-a)) + O(|\lambda|^{\frac{(k-2)}{2}}e^{|t|(x-a)}),$$
(2.8)

if $\beta_2 = 0$.

Then we obtain four distinct cases for the asymptotic behavior of $\omega(\lambda)$ for $|\lambda| \to \infty$, namely,

$$\omega(\lambda) = \begin{cases} \lambda \sqrt{\lambda} \alpha_1' \beta_2 \gamma \sin(\sqrt{\lambda}(b-a)) + O(\lambda e^{|t|(b-a)}), & \text{if } \beta_2 \neq 0, \alpha_1' \neq 0, \\ \lambda \alpha_2' \beta_2 \gamma \cos(\sqrt{\lambda}(b-a)) + O(\sqrt{\lambda} e^{|t|(b-a)}), & \text{if } \beta_2 \neq 0, \alpha_1' = 0, \\ \lambda \alpha_1' \beta_1 \gamma \cos(\sqrt{\lambda}(b-a)) + O(\sqrt{\lambda} e^{|t|(b-a)}), & \text{if } \beta_2 = 0, \alpha_1' \neq 0, \\ -\sqrt{\lambda} \alpha_2' \beta_1 \gamma \sin(\sqrt{\lambda}(b-a)) + O(e^{|t|(b-a)}), & \text{if } \beta_2 = 0, \alpha_1' = 0. \end{cases}$$

Consequently if $\lambda_0 < \lambda_1 < \cdots$, are the zeros of $\omega(\lambda)$, then we have the following asymptotic formulas for sufficiently large *n*:

$$\sqrt{\lambda_n} = \begin{cases} \frac{(n-1)\pi}{(b-a)} + O(n^{-1}), & \text{if } \beta_2 \neq 0, \alpha_1' \neq 0, \\ \frac{(n-1/2)\pi}{(b-a)} + O(n^{-1}), & \text{if } \beta_2 \neq 0, \alpha_1' = 0, \\ \frac{(n-1/2)\pi}{(b-a)} + O(n^{-1}), & \text{if } \beta_2 = 0, \alpha_1' \neq 0, \\ \frac{n\pi}{(b-a)} + O(n^{-1}), & \text{if } \beta_2 = 0, \alpha_1' = 0. \end{cases}$$
(2.9)

3 Green's function

To study the completeness of the eigenvectors of *A* and hence the completeness of the eigenfunctions of the problem (1.1)-(1.7), we construct the resolvent of *A* as well as the Green's function of the problem (1.1)-(1.7). We assume without any loss of generality that $\lambda = 0$ is not an eigenvalue of *A*.

Now let $\lambda \in \mathbb{C}$ not be an eigenvalue of A and consider the inhomogeneous problem for $f(x) = \binom{f(x)}{h} \in H$, $u(x) = \binom{u(x)}{R'(u)} \in D(A)$;

$$(\lambda I - A)u(x) = f(x), \quad x \in I,$$

where I is the identity operator. Since

$$(\lambda \mathbf{I} - A)\mathbf{u}(x) = \lambda \begin{pmatrix} u(x) \\ R'(u) \end{pmatrix} - \begin{pmatrix} \tau(u) \\ -R(u) \end{pmatrix} = \begin{pmatrix} f(x) \\ h \end{pmatrix}$$

we have

$$(\lambda - \tau)u(x) = f(x), \quad x \in I, \tag{3.1}$$

$$\lambda R'(u) + R(u) = h. \tag{3.2}$$

Now we can represent the general solution of the homogeneous differential equation (1.1), appropriate to (3.1) in the following form:

$$u(x,\lambda) = \begin{cases} c_1 \phi_{-\varepsilon,\lambda}(x) + c_2 \chi_{-\varepsilon,\lambda}(x), & x \in [a, \theta_{-\varepsilon}), \\ c_3 \phi_{\varepsilon,\lambda}(x) + c_4 \chi_{\varepsilon,\lambda}(x), & x \in (\theta_{-\varepsilon}, \theta_{+\varepsilon}), \\ c_5 \phi_{+\varepsilon,\lambda}(x) + c_6 \chi_{+\varepsilon,\lambda}(x), & x \in (\theta_{+\varepsilon}, b], \end{cases}$$

in which c_i ($i = \overline{1, 6}$) are arbitrary constants. By applying the method of variation of the constants, we shall search the general solution of the non-homogeneous linear differential

(3.1) in the following form:

$$u(x,\lambda) = \begin{cases} c_1(x,\lambda)\phi_{-\varepsilon,\lambda}(x) + c_2(x,\lambda)\chi_{-\varepsilon,\lambda}(x), & x \in [a,\theta_{-\varepsilon}), \\ c_3(x,\lambda)\phi_{\varepsilon,\lambda}(x) + c_4(x,\lambda)\chi_{\varepsilon,\lambda}(x), & x \in (\theta_{-\varepsilon},\theta_{+\varepsilon}), \\ c_5(x,\lambda)\phi_{+\varepsilon,\lambda}(x) + c_6(x,\lambda)\chi_{+\varepsilon,\lambda}(x), & x \in (\theta_{+\varepsilon},b], \end{cases}$$
(3.3)

where the functions $c_i(x, \lambda)$ (*i* = $\overline{1, 6}$) satisfy the following linear system of equations:

$$\begin{cases} c_{1}'(x,\lambda)\phi_{-\varepsilon,\lambda}(x) + c_{2}'(x,\lambda)\chi_{-\varepsilon,\lambda}(x) = 0, \\ c_{1}'(x,\lambda)\phi_{-\varepsilon,\lambda}'(x) + c_{2}'(x,\lambda)\chi_{-\varepsilon,\lambda}'(x) = f(x), \end{cases} & \text{for } x \in [a,\theta_{-\varepsilon}), \\ \begin{cases} c_{3}'(x,\lambda)\phi_{\varepsilon,\lambda}(x) + c_{4}'(x,\lambda)\chi_{\varepsilon,\lambda}(x) = 0, \\ c_{3}'(x,\lambda)\phi_{\varepsilon,\lambda}'(x) + c_{4}'(x,\lambda)\chi_{\varepsilon,\lambda}'(x) = f(x), \end{cases} & \text{for } x \in (\theta_{-\varepsilon},\theta_{+\varepsilon}), \\ \end{cases} \\ \begin{cases} c_{5}'(x,\lambda)\phi_{+\varepsilon,\lambda}(x) + c_{6}'(x,\lambda)\chi_{+\varepsilon,\lambda}(x) = 0, \\ c_{5}'(x,\lambda)\phi_{+\varepsilon,\lambda}'(x) + c_{6}'(x,\lambda)\chi_{+\varepsilon,\lambda}'(x) = f(x), \end{cases} & \text{for } x \in (\theta_{+\varepsilon},b]. \end{cases}$$
(3.4)

Since λ is not an eigenvalue and $\omega_{-\varepsilon}(\lambda) \neq 0$, $\omega_{\varepsilon}(\lambda) \neq 0$, $\omega_{+\varepsilon}(\lambda) \neq 0$, each of the linear systems in (3.4) has a unique solution, which leads to

$$\begin{cases} c_{1}(x,\lambda) = \frac{1}{\omega_{-\varepsilon}(\lambda)} \int_{x}^{\theta_{-\varepsilon}} \chi_{-\varepsilon,\lambda}(y) f(y) \, dy + c_{1}(\lambda), \\ c_{2}(x,\lambda) = \frac{1}{\omega_{-\varepsilon}(\lambda)} \int_{a}^{x} \phi_{-\varepsilon,\lambda}(y) f(y) \, dy + c_{2}(\lambda), \end{cases} \quad \text{for } x \in [a, \theta_{-\varepsilon}), \\ \begin{cases} c_{3}(x,\lambda) = \frac{1}{\omega_{\varepsilon}(\lambda)} \int_{x}^{\theta_{+\varepsilon}} \chi_{\varepsilon,\lambda}(y) f(y) \, dy + c_{3}(\lambda), \\ c_{4}(x,\lambda) = \frac{1}{\omega_{\varepsilon}(\lambda)} \int_{\theta_{-\varepsilon}}^{x} \phi_{\varepsilon,\lambda}(y) f(y) \, dy + c_{4}(\lambda), \end{cases} \quad \text{for } x \in (\theta_{-\varepsilon}, \theta_{+\varepsilon}), \\ \begin{cases} c_{5}(x,\lambda) = \frac{1}{\omega_{+\varepsilon}(\lambda)} \int_{x}^{x} \chi_{+\varepsilon,\lambda}(y) f(y) \, dy + c_{5}(\lambda), \\ c_{6}(x,\lambda) = \frac{1}{\omega_{+\varepsilon}(\lambda)} \int_{\theta_{+\varepsilon}}^{x} \phi_{+\varepsilon,\lambda}(y) f(y) \, dy + c_{6}(\lambda), \end{cases} \quad \text{for } x \in (\theta_{+\varepsilon}, b], \end{cases}$$

$$(3.5)$$

where $c_i(\lambda)$ ($i = \overline{1,6}$) are arbitrary constants. Substituting (3.5) into (3.3), we obtain the solution of (3.1) as

$$u(x,\lambda) = \begin{cases} \frac{\phi_{-\varepsilon,\lambda}(x)}{\omega_{-\varepsilon}(\lambda)} \int_{x}^{\theta_{-\varepsilon}} \chi_{-\varepsilon,\lambda}(y) f(y) \, dy + \frac{\chi_{-\varepsilon,\lambda}(x)}{\omega_{-\varepsilon}(\lambda)} \int_{a}^{x} \phi_{-\varepsilon,\lambda}(y) f(y) \, dy \\ + c_{1}(\lambda) \phi_{-\varepsilon,\lambda}(x) + c_{2}(\lambda) \chi_{-\varepsilon,\lambda}(x), & x \in [a, \theta_{-\varepsilon}), \\ \frac{\phi_{\varepsilon,\lambda}(x)}{\omega_{\varepsilon}(\lambda)} \int_{x}^{\theta_{+\varepsilon}} \chi_{\varepsilon,\lambda}(y) f(y) \, dy + \frac{\chi_{\varepsilon,\lambda}(x)}{\omega_{\varepsilon}(\lambda)} \int_{\theta_{-\varepsilon}}^{x} \phi_{\varepsilon,\lambda}(y) f(y) \, dy \\ + c_{3}(\lambda) \phi_{\varepsilon,\lambda}(x) + c_{4}(\lambda) \chi_{\varepsilon,\lambda}(x), & x \in (\theta_{-\varepsilon}, \theta_{+\varepsilon}), \\ \frac{\phi_{+\varepsilon,\lambda}(x)}{\omega_{+\varepsilon}(\lambda)} \int_{x}^{b} \chi_{+\varepsilon,\lambda}(y) f(y) \, dy + \frac{\chi_{+\varepsilon,\lambda}(x)}{\omega_{+\varepsilon}(\lambda)} \int_{\theta_{+\varepsilon}}^{x} \phi_{+\varepsilon,\lambda}(y) f(y) \, dy \\ + c_{5}(\lambda) \phi_{+\varepsilon,\lambda}(x) + c_{6}(\lambda) \chi_{+\varepsilon,\lambda}(x), & x \in (\theta_{+\varepsilon}, b]. \end{cases}$$
(3.6)

Then, from the boundary conditions (3.2), (1.2), and the transmission conditions (1.4)-(1.7), we get

$$c_{1}(\lambda) = \frac{1}{\omega_{\varepsilon}(\lambda)} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \chi_{\varepsilon,\lambda}(y) f(y) \, dy + \frac{1}{\omega_{+\varepsilon}(\lambda)} \int_{\theta_{+\varepsilon}}^{b} \chi_{+\varepsilon,\lambda}(y) f(y) \, dy + \frac{h}{\omega_{+\varepsilon}(\lambda)},$$

$$c_{2}(\lambda) = 0,$$

$$c_{3}(\lambda) = \frac{1}{\omega_{+\varepsilon}(\lambda)} \int_{\theta_{+\varepsilon}}^{b} \chi_{+\varepsilon,\lambda}(y) f(y) \, dy + \frac{h}{\omega_{+\varepsilon}(\lambda)},$$
(3.7)

$$\begin{split} c_4(\lambda) &= \frac{1}{\omega_{-\varepsilon}(\lambda)} \int_a^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(y) f(y) \, dy, \\ c_5(\lambda) &= \frac{h}{\omega_{+\varepsilon}(\lambda)}, \\ c_6(\lambda) &= \frac{1}{\omega_{-\varepsilon}(\lambda)} \int_a^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(y) f(y) \, dy + \frac{1}{\omega_{\varepsilon}(\lambda)} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \phi_{\varepsilon,\lambda}(y) f(y) \, dy. \end{split}$$

Substituting (3.7) and (2.5) into (3.6), (3.6) can be written as

$$u(x,\lambda) = \begin{cases} \frac{\phi_{-\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{x}^{\theta_{-\varepsilon}} \chi_{-\varepsilon,\lambda}(y)f(y) \, dy + \frac{\chi_{-\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{a}^{x} \phi_{-\varepsilon,\lambda}(y)f(y) \, dy \\ + \frac{\delta^{2}\phi_{-\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \chi_{\varepsilon,\lambda}(y)f(y) \, dy + \frac{y^{2}h}{\omega(\lambda)} \phi_{-\varepsilon,\lambda}(x), \qquad x \in [a,\theta_{-\varepsilon}), \end{cases} \\ \frac{\delta^{2}\phi_{\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{x}^{\theta_{+\varepsilon}} \chi_{\varepsilon,\lambda}(y)f(y) \, dy + \frac{\delta^{2}\chi_{\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{\theta_{-\varepsilon}}^{x} \phi_{\varepsilon,\lambda}(y)f(y) \, dy \\ + \frac{\chi_{\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{a}^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(y)f(y) \, dy + \frac{\psi^{2}h}{\omega(\lambda)} \phi_{\varepsilon,\lambda}(x), \qquad x \in (\theta_{-\varepsilon},\theta_{+\varepsilon}), \end{cases} \\ \frac{\gamma^{2}\phi_{\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{\phi_{+\varepsilon}}^{b} \chi_{+\varepsilon,\lambda}(y)f(y) \, dy + \frac{\psi^{2}h}{\omega(\lambda)} \phi_{\varepsilon,\lambda}(x), \qquad x \in (\theta_{-\varepsilon},\theta_{+\varepsilon}), \end{cases} \\ \frac{\gamma^{2}\phi_{+\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{a}^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(y)f(y) \, dy + \frac{\psi^{2}h}{\omega(\lambda)} \phi_{\varepsilon,\lambda}(x), \qquad x \in (\theta_{-\varepsilon},\theta_{+\varepsilon}), \end{cases} \\ \frac{\gamma^{2}\phi_{+\varepsilon,\lambda}(x)}{\omega(\lambda)} \int_{a}^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(y)f(y) \, dy + \frac{\psi^{2}h}{\omega(\lambda)} \phi_{\varepsilon,\lambda}(x), \qquad x \in (\theta_{-\varepsilon},\theta_{+\varepsilon}), \end{cases}$$

Hence we have

$$\begin{aligned} \mathbf{u}(x) &= (\lambda \mathbf{I} - A)^{-1} \mathbf{f}(x) \\ &= \begin{pmatrix} \int_{a}^{\theta_{-\varepsilon}} G(x, y; \lambda) f(y) \, dy + \delta^2 \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} G(x, y; \lambda) f(y) \, dy \\ &+ \gamma^2 \int_{\theta_{+\varepsilon}}^{b} G(x, y; \lambda) f(y) \, dy + \frac{\gamma^2 h \phi_{\lambda}(x)}{\omega(\lambda)} \\ & R'(u) \end{pmatrix}, \end{aligned}$$
(3.8)

where

$$G(x, y; \lambda) = \begin{cases} \frac{\phi_{\lambda}(y)\chi_{\lambda}(x)}{\omega(\lambda)}, & a \le y \le x \le b, x \ne \theta_{-\varepsilon}, \theta_{+\varepsilon}; y \ne \theta_{-\varepsilon}, \theta_{+\varepsilon}, \\ \frac{\phi_{\lambda}(x)\chi_{\lambda}(y)}{\omega(\lambda)}, & a \le x \le y \le b, x \ne \theta_{-\varepsilon}, \theta_{+\varepsilon}; y \ne \theta_{-\varepsilon}, \theta_{+\varepsilon}, \end{cases}$$
(3.9)

is the Green's function of the problem (1.1)-(1.7).

4 The sampling theorems

In this section we derive two sampling theorems associated with the problem (1.1)-(1.7). For convenience we may assume that the eigenvectors of A are real valued.

Theorem 1 Consider the problem (1.1)-(1.7), and let

$$\phi_{\lambda}(x) = \begin{cases} \phi_{-\varepsilon,\lambda}(x), & x \in [a, \theta_{-\varepsilon}), \\ \phi_{\varepsilon,\lambda}(x), & x \in (\theta_{-\varepsilon}, \theta_{+\varepsilon}), \\ \phi_{+\varepsilon,\lambda}(x), & x \in (\theta_{+\varepsilon}, b], \end{cases}$$

be the solution defined above. Let $g(\cdot) \in L_2(a, b)$ *and*

$$F(\lambda) = \int_{a}^{\theta_{-\varepsilon}} g(x)\phi_{-\varepsilon,\lambda}(x)\,dx + \delta^2 \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} g(x)\phi_{\varepsilon,\lambda}(x)\,dx + \gamma^2 \int_{\theta_{+\varepsilon}}^{b} g(x)\phi_{+\varepsilon,\lambda}(x)\,dx. \tag{4.1}$$

Then $F(\lambda)$ is an entire function of exponential type (b - a) that can be reconstructed from its values at the points $\{\lambda_n\}_{n=0}^{\infty}$ via the sampling formula

$$F(\lambda) = \sum_{n=0}^{\infty} F(\lambda_n) \frac{\omega(\lambda)}{(\lambda - \lambda_n)\omega'(\lambda_n)}.$$
(4.2)

The series (4.1) converges absolutely on \mathbb{C} and uniformly on compact subset of \mathbb{C} . Here $\omega(\lambda)$ is the entire function defined in (2.5).

Proof The relation (4.1) can be rewritten as an inner product of *H* as follows:

$$F(\lambda) = \langle g(\cdot), \Phi_{\lambda}(\cdot) \rangle_{H}$$

= $\int_{a}^{\theta_{-\varepsilon}} g(x)\phi_{-\varepsilon,\lambda}(x) dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} g(x)\phi_{\varepsilon,\lambda}(x) dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} g(x)\phi_{+\varepsilon,\lambda}(x) dx,$ (4.3)

where

$$g(x) = \begin{pmatrix} g(x) \\ 0 \end{pmatrix}, \qquad \Phi_{\lambda}(x) = \begin{pmatrix} \phi_{\lambda}(x) \\ R'(\phi_{\lambda}) \end{pmatrix} \in H.$$

Since both $g(\cdot)$ and $\Phi_{\lambda}(\cdot)$ are in *H*, then they have the Fourier expansions

$$g(x) = \sum_{n=0}^{\infty} \hat{g}(n) \frac{\Phi_n(x)}{\|\Phi_n(\cdot)\|_H^2}, \qquad \Phi_\lambda(x) = \sum_{n=0}^{\infty} \langle \Phi_n(\cdot), \Phi_\lambda(\cdot) \rangle_H \frac{\Phi_n(x)}{\|\Phi_n(\cdot)\|_H^2},$$

where

$$\begin{split} \hat{g}(n) &= \left\langle g(\cdot), \Phi_{\lambda}(\cdot) \right\rangle_{H} \\ &= \int_{a}^{\theta_{-\varepsilon}} g(x) \phi_{-\varepsilon,\lambda_{n}}(x) \, dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} g(x) \phi_{\varepsilon,\lambda_{n}}(x) \, dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} g(x) \phi_{+\varepsilon,\lambda_{n}}(x) \, dx \\ &= F(\lambda_{n}). \end{split}$$

$$(4.4)$$

Applying Parseval's identity to (4.3) and using (4.4), we obtain

$$F(\lambda) = \sum_{n=0}^{\infty} F(\lambda_n) \frac{\langle \Phi_n(\cdot), \Phi_\lambda(\cdot) \rangle_H}{\|\Phi_n(\cdot)\|_H^2}.$$

Now we calculate $\langle \Phi_n(\cdot), \Phi_\lambda(\cdot) \rangle_H$ and $\|\Phi_n(\cdot)\|_H$. To prove formula (4.2), we need to show that

$$\frac{\langle \Phi_n(\cdot), \Phi_\lambda(\cdot) \rangle_H}{\|\Phi_n(\cdot)\|_H^2} = \frac{\omega(\lambda)}{(\lambda - \lambda_n)\omega'(\lambda_n)}, \quad n = 0, 1, 2, \dots$$
(4.5)

By the definition of the inner product of H, we have

$$\left\langle \Phi_{\lambda}(\cdot), \Phi_{n}(\cdot) \right\rangle_{H} = \int_{a}^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(x) \phi_{-\varepsilon,\lambda_{n}}(x) \, dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \phi_{\varepsilon,\lambda}(x) \phi_{\varepsilon,\lambda_{n}}(x) \, dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} \phi_{+\varepsilon,\lambda}(x) \phi_{+\varepsilon,\lambda_{n}}(x) \, dx + \frac{\delta^{2}}{\rho} R'(\phi_{\lambda}) R'(\phi_{\lambda_{n}}).$$

$$(4.6)$$

From the Green's identity [26], we have

$$\int_{a}^{\theta_{-\varepsilon}} \tau(\phi_{-\varepsilon,\lambda})\phi_{-\varepsilon,\lambda_{n}}(x) dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \tau(\phi_{\varepsilon,\lambda})\phi_{\varepsilon,\lambda_{n}}(x) dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} \tau(\phi_{+\varepsilon,\lambda})\phi_{+\varepsilon,\lambda_{n}}(x) dx$$

$$= \int_{a}^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(x)\tau(\phi_{-\varepsilon,\lambda_{n}}) dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \phi_{\varepsilon,\lambda}(x)\tau(\phi_{\varepsilon,\lambda_{n}}) dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} \phi_{+\varepsilon,\lambda}(x)\tau(\phi_{+\varepsilon,\lambda_{n}}) dx$$

$$+ W(\phi_{-\varepsilon,\lambda},\phi_{-\varepsilon,\lambda_{n}};\theta_{-\varepsilon}) - W(\phi_{-\varepsilon,\lambda},\phi_{-\varepsilon,\lambda_{n}};a) + \delta^{2} W(\phi_{\varepsilon,\lambda},\phi_{\varepsilon,\lambda_{n}};\theta_{+\varepsilon})$$

$$- \delta^{2} W(\phi_{\varepsilon,\lambda},\phi_{\varepsilon,\lambda_{n}};\theta_{-\varepsilon}) + \gamma^{2} W(\phi_{+\varepsilon,\lambda},\phi_{+\varepsilon,\lambda_{n}};b) - \gamma^{2} W(\phi_{+\varepsilon,\lambda},\phi_{+\varepsilon,\lambda_{n}};\theta_{+\varepsilon}), \quad (4.7)$$

then from (2.3) and (2.4), the equality (4.11) becomes

$$\begin{split} &(\lambda - \lambda_n) \bigg(\int_a^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(x) \phi_{-\varepsilon,\lambda_n}(x) \, dx + \delta^2 \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \phi_{\varepsilon,\lambda}(x) \phi_{\varepsilon,\lambda_n}(x) \, dx \\ &+ \gamma^2 \int_{\theta_{+\varepsilon}}^b \phi_{+\varepsilon,\lambda}(x) \phi_{+\varepsilon,\lambda_n}(x) \, dx \bigg) \\ &= \gamma^2 W(\phi_{+\varepsilon,\lambda}, \phi_{+\varepsilon,\lambda_n}; b). \end{split}$$

Thus

$$\int_{a}^{\theta_{-\varepsilon}} \phi_{-\varepsilon,\lambda}(x)\phi_{-\varepsilon,\lambda_{n}}(x)\,dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \phi_{\varepsilon,\lambda}(x)\phi_{\varepsilon,\lambda_{n}}(x)\,dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} \phi_{+\varepsilon,\lambda}(x)\phi_{+\varepsilon,\lambda_{n}}(x)\,dx$$
$$= \frac{\gamma^{2}W(\phi_{+\varepsilon,\lambda},\phi_{+\varepsilon,\lambda_{n}};b)}{(\lambda-\lambda_{n})}.$$
(4.8)

From (2.2), (2.4), and (2.5), we have

$$W(\phi_{+\varepsilon,\lambda},\phi_{+\varepsilon,\lambda_{n}};b) = \phi_{+\varepsilon,\lambda}(b)\phi'_{+\varepsilon,\lambda_{n}}(b) - \phi'_{+\varepsilon,\lambda}(b)\phi_{+\varepsilon,\lambda_{n}}(b)$$

$$= k_{n}^{-1} \{\phi_{+\varepsilon,\lambda}(b)\chi'_{+\varepsilon,\lambda_{n}}(b) - \phi'_{+\varepsilon,\lambda}(b)\chi_{+\varepsilon,\lambda_{n}}(b)\}$$

$$= k_{n}^{-1} \{\phi_{+\varepsilon,\lambda}(b)(\lambda_{n}\alpha'_{1} - \alpha_{1}) - \phi'_{+\varepsilon,\lambda}(b)(\lambda_{n}\alpha'_{2} - \alpha_{2})\}$$

$$= k_{n}^{-1} \{\omega(\lambda) + (\lambda_{n} - \lambda)R'(\phi_{\lambda})\}.$$
(4.9)

Equations (2.5), (2.6), and $R'(\chi_{\lambda_n}) = \rho$ yield

$$\frac{\gamma^2}{\rho}R'(\phi_{\lambda})R'(\phi_{\lambda_n}) = \frac{\gamma^2}{\rho}k_n^{-1}R'(\phi_{\lambda})R'(\chi_{\lambda_n}) = \gamma^2k_n^{-1}R'(\phi_{\lambda}).$$
(4.10)

Substituting from (4.8), (4.9), and (4.10) into (4.6), we get

$$\left\langle \Phi_{\lambda}(\cdot), \Phi_{n}(\cdot) \right\rangle_{H} = \gamma^{2} k_{n}^{-1} \frac{\omega(\lambda)}{\lambda - \lambda_{n}}.$$
(4.11)

Letting $\lambda \to \lambda_n$ in (4.11), since the zeros of $\omega(\lambda)$ are simple, we get

$$\left\langle \Phi_{n}(\cdot), \Phi_{n}(\cdot) \right\rangle_{H} = \left\| \Phi_{n}(\cdot) \right\|_{H}^{2} = \gamma^{2} k_{n}^{-1} \omega'(\lambda_{n}).$$

$$(4.12)$$

Therefore from (4.11) and (4.12), we get (4.5). Hence (4.2) is proved with a pointwise converge on \mathbb{C} . Now we investigate the convergence of (4.2). First we prove that it is absolutely convergent on \mathbb{C} . Using the Cauchy-Schwarz's inequality for $\lambda \in \mathbb{C}$,

$$\left| \sum_{n=0}^{\infty} F(\lambda_n) \frac{\omega(\lambda)}{(\lambda - \lambda_n) \omega'(\lambda_n)} \right| \leq \left(\sum_{n=0}^{\infty} \frac{|\langle \mathbf{g}(\cdot), \Phi_n(\cdot) \rangle_H|^2}{\|\Phi_n(\cdot)\|_H^2} \right)^{1/2} \left(\sum_{n=0}^{\infty} \frac{|\langle \Phi_n(\cdot), \Phi_\lambda(\cdot) \rangle_H|^2}{\|\Phi_n(\cdot)\|_H^2} \right)^{1/2}.$$

$$(4.13)$$

Since $g(\cdot), \Phi_{\lambda}(\cdot) \in H$, both series in the right-hand side of (4.13) converge. Thus the series (4.2) converges absolutely on \mathbb{C} . For uniform convergence let $M \subset \mathbb{C}$ be compact. Let $\lambda \in M$ and N > 0. Define $\sigma_N(\lambda)$ to be

$$\sigma_N(\lambda) := \left| F(\lambda) - \sum_{n=0}^{\infty} F(\lambda_n) \frac{\omega(\lambda)}{(\lambda - \lambda_n) \omega'(\lambda_n)} \right|.$$

Using the same method developed above

$$\sigma_N(\lambda) \leq \left(\sum_{n=N+1}^{\infty} \frac{|\langle \mathbf{g}(\cdot), \Phi_n(\cdot)\rangle_H|^2}{\|\Phi_n(\cdot)\|_H^2}\right)^{1/2} \left(\sum_{n=N+1}^{\infty} \frac{|\langle \Phi_n(\cdot), \Phi_\lambda(\cdot)\rangle_H|^2}{\|\Phi_n(\cdot)\|_H^2}\right)^{1/2}.$$

Therefore

$$\sigma_N(\lambda) \leq \left\| \Phi_{\lambda}(\cdot) \right\|_H \left(\sum_{n=N+1}^{\infty} \frac{|\langle \mathbf{g}(\cdot), \Phi_n(\cdot) \rangle_H|^2}{\|\Phi_n(\cdot)\|_H^2} \right)^{1/2}.$$

Since $[a, b] \times M$ is compact, then we can find a positive constant C_M such that

$$\left\| \Phi_{\lambda}(\cdot) \right\|_{H} \leq C_{M}$$
, for all $\lambda \in M$.

Therefore,

$$\sigma_N(\lambda) \le C_M \left(\sum_{n=N+1}^{\infty} \frac{|\langle \mathsf{g}(\cdot), \Phi_n(\cdot) \rangle_H|^2}{\|\Phi_n(\cdot)\|_H^2} \right)^{1/2}$$

uniformly on M. In view of Parseval's equality,

$$\left(\sum_{n=N+1}^{\infty} \frac{|\langle \mathsf{g}(\cdot), \Phi_n(\cdot)\rangle_H|^2}{\|\Phi_n(\cdot)\|_H^2}\right)^{1/2} \to 0 \quad \text{as } N \to \infty.$$

Thus $\sigma_N(\lambda) \to 0$ uniformly on M. Hence (4.2) converges uniformly on M. As a result $F(\lambda)$ is analytic on compact subsets of \mathbb{C} and hence it is entire function. From the relation

$$\left|F(\lambda)\right| \leq \int_{a}^{\theta_{-\varepsilon}} \left|g(x)\right| \left|\phi_{-\varepsilon,\lambda}(x)\right| dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} \left|g(x)\right| \left|\phi_{\varepsilon,\lambda}(x)\right| dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} \left|g(x)\right| \left|\phi_{+\varepsilon,\lambda}(x)\right| dx$$

and the fact that $\phi_{-\varepsilon,\lambda}(x)$, $\phi_{\varepsilon,\lambda}(x)$ and $\phi_{+\varepsilon,\lambda}(x)$ are entire functions of exponential type (b-a), we conclude that $F(\lambda)$ is also exponential type (b-a).

Remark 1 To see that the expansion (4.2) is a Lagrange type interpolation, we may replace $\omega(\lambda)$ by the canonical product

$$\varpi(\lambda) = \begin{cases} \prod_{n=0}^{\infty} (1 - \frac{\lambda}{\lambda_n}), & \text{if zero is not an eigenvalue,} \\ \lambda \prod_{n=1}^{\infty} (1 - \frac{\lambda}{\lambda_n}), & \text{if } \lambda_0 = 0 \text{ is an eigenvalue.} \end{cases}$$
(4.14)

From Hadamard's factorization theorem (see [27]), $\omega(\lambda) = h(\lambda)\varpi(\lambda)$, where $h(\lambda)$ is an entire function with no zeros. Thus,

$$\frac{\omega(\lambda)}{\omega'(\lambda_n)} = \frac{h(\lambda)\varpi(\lambda)}{h(\lambda_n)\varpi'(\lambda_n)}$$

and (4.1), (4.2) remain valid for the function $F(\lambda)/h(\lambda)$. Hence

$$F(\lambda) = \sum_{n=0}^{\infty} F(\lambda_n) \frac{h(\lambda)\varpi(\lambda)}{(\lambda - \lambda_n)h(\lambda_n)\varpi'(\lambda_n)}$$

We may redefine (4.1) by taking the kernel $\phi_{\lambda}(\cdot)/h(\lambda) = \overline{\phi}_{\lambda}(\cdot)$ to get

$$\overline{F}(\lambda) = \frac{F(\lambda)}{h(\lambda)} = \sum_{n=0}^{\infty} \overline{F}(\lambda_n) \frac{\overline{\varpi}(\lambda)}{(\lambda - \lambda_n)\overline{\varpi}'(\lambda_n)}.$$

The next theorem is devoted to giving interpolation sampling expansions associated with the problem (1.1)-(1.7) defined in terms of the Green's function (these steps were introduced for the first time in [4, 10] and recently in [21, 28]). As we see in (3.9), the Green's function $G(x, y; \lambda)$ of the problem (1.1)-(1.7) has simple poles at $\{\lambda_n\}_{n=0}^{\infty}$. Let the function $G(x, \lambda)$ to be $G(x, \lambda) = \omega(\lambda)G(x, y_0; \lambda)$, where $y_0 \in I$ is a fixed point and $\omega(\lambda)$ is the function defined in (2.5) or the canonical product (4.14).

Theorem 2 Let $g(\cdot) \in L_2(a, b)$ and $F(\lambda)$ be the integral transform

$$F(\lambda) = \int_{a}^{\theta_{-\varepsilon}} G(x,\lambda)\overline{g}(x)\,dx + \delta^2 \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} G(x,\lambda)\overline{g}(x)\,dx + \gamma^2 \int_{\theta_{+\varepsilon}}^{b} G(x,\lambda)\overline{g}(x)\,dx.$$
(4.15)

Then $F(\lambda)$ is an entire function of exponential type (b - a) which admits the sampling representation

$$F(\lambda) = \sum_{n=0}^{\infty} F(\lambda_n) \frac{\omega(\lambda)}{(\lambda - \lambda_n)\omega'(\lambda_n)}.$$
(4.16)

The series (4.16) *converges absolutely on* \mathbb{C} *and uniformly on a compact subset of* \mathbb{C} *.*

$$F(\lambda) = \langle G(\cdot, \lambda), g(\cdot) \rangle_{H}, \tag{4.17}$$

where

$$g(x) = \begin{pmatrix} g(x) \\ 0 \end{pmatrix}, \qquad G(x,\lambda) = \begin{pmatrix} G(x,\lambda) \\ R'(G) \end{pmatrix} \in H.$$

Applying Parseval's identity to (4.17) with respect to $\{\Phi_n(\cdot)\}_{n=0}^{\infty}$, we obtain

$$F(\lambda) = \sum_{n=0}^{\infty} \langle G(\cdot, \lambda), \Phi_n(\cdot) \rangle_H \frac{\overline{\langle g(\cdot), \Phi_n(\cdot) \rangle_H}}{\|\Phi_n(\cdot)\|_H^2}.$$
(4.18)

Let $\lambda \neq \lambda_n$. Since each $\Phi_n(\cdot)$ is an eigenvector of A,

$$(\lambda \mathbf{I} - A)\Phi_n(x) = (\lambda - \lambda_n)\Phi_n(x).$$

Thus

$$(\lambda \mathbf{I} - A)^{-1} \Phi_n(x) = \frac{1}{(\lambda - \lambda_n)} \Phi_n(x).$$
(4.19)

From (3.8) and (4.9), we obtain

$$\int_{a}^{\theta_{-\varepsilon}} G(x, y_{0}; \lambda) \phi_{-\varepsilon,\lambda_{n}}(x) dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} G(x, y_{0}; \lambda) \phi_{\varepsilon,\lambda_{n}}(x) dx$$
$$+ \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} G(x, y_{0}; \lambda) \phi_{+\varepsilon,\lambda_{n}}(x) dx + \frac{\gamma^{2}}{\omega(\lambda)} \phi_{\lambda}(y_{0}) R'(\phi_{\lambda_{n}})$$
$$= \frac{1}{(\lambda - \lambda_{n})} \Phi_{\lambda_{n}}(y_{0}).$$
(4.20)

Using $R'(\phi_{\lambda_n}) = k_n^{-1}\rho$, (4.20) becomes

$$\int_{a}^{\theta_{-\varepsilon}} G(x, y_{0}; \lambda) \phi_{-\varepsilon,\lambda_{n}}(x) dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} G(x, y_{0}; \lambda) \phi_{\varepsilon,\lambda_{n}}(x) dx$$
$$+ \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} G(x, y_{0}; \lambda) \phi_{+\varepsilon,\lambda_{n}}(x) dx + \frac{\gamma^{2}}{\omega(\lambda)} k_{n}^{-1} \rho \phi_{\lambda}(y_{0})$$
$$= \frac{1}{(\lambda - \lambda_{n})} \Phi_{\lambda_{n}}(y_{0}). \tag{4.21}$$

Hence (4.21) can be rewritten as

$$\int_{a}^{\theta_{-\varepsilon}} G(x,\lambda)\phi_{-\varepsilon,\lambda_{n}}(x) dx + \delta^{2} \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} G(x,\lambda)\phi_{\varepsilon,\lambda_{n}}(x) dx + \gamma^{2} \int_{\theta_{+\varepsilon}}^{b} G(x,\lambda)\phi_{+\varepsilon,\lambda_{n}}(x) dx + \gamma^{2}k_{n}^{-1}\rho\phi_{\lambda}(y_{0}) = \frac{\omega(\lambda)}{(\lambda - \lambda_{n})}\Phi_{\lambda_{n}}(y_{0}).$$
(4.22)

$$\left\langle G(\cdot,\lambda), \Phi_n(\cdot) \right\rangle_{H} = \int_{a}^{\theta_{-\varepsilon}} G(x,\lambda) \phi_{-\varepsilon,\lambda_n}(x) \, dx + \delta^2 \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} G(x,\lambda) \phi_{\varepsilon,\lambda_n}(x) \, dx + \gamma^2 \int_{\theta_{+\varepsilon}}^{b} G(x,\lambda) \phi_{+\varepsilon,\lambda_n}(x) \, dx + \frac{\gamma^2}{\rho} R'(G) R'(\phi_{\lambda_n}).$$

$$(4.23)$$

From (3.8), we have

$$R'(G) = \phi_{\lambda}(y_0)R'(\chi_{+\varepsilon,\lambda}). \tag{4.24}$$

Combining (4.24), $R'(\chi_{+\varepsilon,\lambda}) = \rho$ and (2.6), together with (4.23), yields

$$\left\langle G(\cdot,\lambda), \Phi_n(\cdot) \right\rangle_{H} = \int_{a}^{\theta_{-\varepsilon}} G(x,\lambda) \phi_{-\varepsilon,\lambda_n}(x) \, dx + \delta^2 \int_{\theta_{-\varepsilon}}^{\theta_{+\varepsilon}} G(x,\lambda) \phi_{\varepsilon,\lambda_n}(x) \, dx + \gamma^2 \int_{\theta_{+\varepsilon}}^{b} G(x,\lambda) \phi_{+\varepsilon,\lambda_n}(x) \, dx + \gamma^2 k_n^{-1} \rho \phi_{\lambda}(y_0).$$

$$(4.25)$$

Substituting from (4.22) and (4.25), we get

$$\langle G(\cdot,\lambda), \Phi_n(\cdot) \rangle_H = \frac{\omega(\lambda)}{(\lambda - \lambda_n)} \Phi_{\lambda_n}(y_0).$$
 (4.26)

As an element of *H*, $G(\cdot, \lambda)$ has the eigenvectors expansion

$$G(x,\lambda) = \sum_{i=0}^{\infty} \langle G(\cdot,\lambda), \Phi_{i}(\cdot) \rangle_{H} \frac{\Phi_{i}(x)}{\|\Phi_{i}(\cdot)\|_{H}^{2}}$$
$$= \sum_{i=0}^{\infty} \frac{\omega(\lambda)}{(\lambda - \lambda_{i})} \Phi_{\lambda_{i}}(y_{0}) \frac{\Phi_{i}(x)}{\|\Phi_{i}(\cdot)\|_{H}^{2}}.$$
(4.27)

Taking the limit when $\lambda \rightarrow \lambda_n$ in (4.17), we get

$$F(\lambda_n) = \lim_{\lambda \to \lambda_n} \langle G(\cdot, \lambda), g(\cdot) \rangle_H.$$
(4.28)

Making use of (4.27), we may rewrite (4.28) as

$$F(\lambda_n) = \lim_{\lambda \to \lambda_n} \sum_{i=0}^{\infty} \frac{\omega(\lambda)}{(\lambda - \lambda_i)} \Phi_{\lambda_i}(y_0) \frac{\langle \Phi_i(\cdot), g(\cdot) \rangle_H}{\|\Phi_i(\cdot)\|_H^2}$$
$$= \omega'(\lambda_n) \Phi_{\lambda_n}(y_0) \frac{\langle \Phi_n(\cdot), g(\cdot) \rangle_H}{\|\Phi_n(\cdot)\|_H^2}.$$
(4.29)

The interchange of the limit and summation is justified by the asymptotic behavior of $\Phi_{\lambda_n}(x)$ and $\omega(\lambda)$. If $\Phi_{\lambda_n}(y_0) \neq 0$, then (4.29) gives

$$\frac{\overline{\langle g(\cdot), \Phi_n(\cdot) \rangle_H}}{\|\Phi_n(\cdot)\|_H^2} = \frac{F(\lambda_n)}{\omega'(\lambda_n)\Phi_{\lambda_n}(y_0)}.$$
(4.30)

Combining (4.26), (4.27), and (4.18) under the assumption that $\Phi_{\lambda_n}(y_0) \neq 0$ for all *n*. If $\Phi_{\lambda_n}(y_0) = 0$, for some *n*, the same expansion holds with $F(\lambda_n) = 0$. The convergence properties as well as the analytic and growth properties can be established as in Theorem 2.

Now we give an example to illustrate the sampling transform.

Example Consider the boundary value problem:

$$-u'' = \lambda u, \quad -2 \le x \le 4,$$

$$u'(-2) = 0,$$

$$\lambda u(4) - u'(4) = 0,$$

$$u(0-) - 2u(0+) = 0,$$

$$u'(0-) - 2u'(0+) = 0,$$

$$u(2-) - \frac{1}{2}u(2+) = 0,$$

$$u'(2-) - \frac{1}{2}u'(2+) = 0,$$

(4.31)

is a special case of the problem (1.1)-(1.7) when $\theta_{-\varepsilon} = 0$ and $\theta_{+\varepsilon} = 2$ as $0 < \varepsilon < 3$. The eigenvalues λ_n of the problem (4.31) are the zeros of the function

$$\omega(\lambda) = \cos(6\sqrt{\lambda}) + \lambda\sqrt{\lambda}\sin(6\sqrt{\lambda}) = 0. \tag{4.32}$$

By Theorem 1, the transform

$$F(\lambda) = \int_{-2}^{0} g(x) \cos\left(\sqrt{\lambda}(x+2)\right) dx + 2 \int_{0}^{2} g(x) \cos\left(\sqrt{\lambda}(x+2)\right) dx$$
$$+ \int_{2}^{4} g(x) \cos\left(\sqrt{\lambda}(x+2)\right) dx,$$

has the following expansion:

$$F(\lambda) = \sum_{n=0}^{\infty} F(\lambda_n) \frac{\cos(6\sqrt{\lambda}) + \lambda\sqrt{\lambda}\sin(6\sqrt{\lambda})}{(\lambda - \lambda_n)(3\lambda_n\cos(6\sqrt{\lambda_n}) + (3(\lambda_n - 2)/2\sqrt{\lambda_n})\sin(6\sqrt{\lambda_n}))},$$

where λ_n are the zeros of (4.32).

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Acknowledgements

All authors are very grateful to the anonymous referees for their valuable suggestions.

Received: 17 June 2014 Accepted: 30 October 2014 Published online: 08 November 2014

References

- 1. Paley, R, Wiener, N: The Fourier Transforms in the Complex Domain. Colloq. Publ., vol. 19. Am. Math. Soc., Providence (1934)
- 2. Levinson, N: Gap and Density Theorems. Colloq. Publ., vol. 26. Am. Math. Soc., Providence (1940)
- 3. Kramer, HP: A generalized sampling theorem. J. Math. Phys. 38, 68-72 (1959)
- 4. Zayed, Al: Advances in Shannon's Sampling Theory. CRC Press, Boca Raton (1993)
- 5. Everitt, WN, Nasri-Roudsari, G, Rehberg, J: A note on the analytic form of the Kramer sampling theorem. Results Math. **34**(3-4), 310-319 (1998)
- Everitt, WN, Nasri-Roudsari, G: Interpolation and sampling theories, and linear ordinary boundary value problems. In: Higgins, JR, Stens, RL (eds.) Sampling Theory in Fourier and Signal Analysis: Advanced Topics, Chapter 5. Oxford University Press, Oxford (1999)
- 7. García, AG, Littlejohn, LL: On analytic sampling theory. J. Comput. Appl. Math. 171, 235-246 (2004)
- Everitt, WN, García, AG, Hernández-Medina, MA: On Lagrange-type interpolation series and analytic Kramer kernels. Results Math. 51, 215-228 (2008)
- 9. Weiss, P: Sampling theorems associated with Sturm Liouville system. Bull. Am. Math. Soc. 63, 242 (1957)
- 10. Zayed, AI, Hinsen, G, Butzer, PL: On Lagrange interpolation and Kramer-type sampling theorems associated with Sturm-Liouville problems. SIAM J. Appl. Math. **50**, 893-909 (1990)
- 11. Zayed, Al: On Kramer's sampling theorem associated with general Sturm-Liouville boundary value problems and Lagrange interpolation. SIAM J. Appl. Math. **51**, 575-604 (1991)
- 12. Everitt, WN, Schöttler, G, Butzer, PL: Sturm-Liouville boundary value problems and Lagrange interpolation series. Rend. Mat. Appl. 14, 87-126 (1994)
- Annaby, MH, Bustoz, J, Ismail, MEH: On sampling theory and basic Sturm-Liouville systems. J. Comput. Appl. Math. 206, 73-85 (2007)
- 14. Boumenir, A, Chanane, B: Eigenvalues of S-L systems using sampling theory. Appl. Anal. 62, 323-334 (1996)
- 15. Boumenir, A: The sampling method for SL problems with the eigenvalue in the boundary conditions. Numer. Funct. Anal. Optim. 21, 67-75 (2000)
- Annaby, MH, Tharwat, MM: On sampling theory and eigenvalue problems with an eigenparameter in the boundary conditions. SUT J. Math. 42(2), 157-176 (2006)
- Annaby, MH, Tharwat, MM: On sampling and Dirac systems with eigenparameter in the boundary conditions. J. Appl. Math. Comput. 36(1-2), 291-317 (2011)
- 18. Zayed, Al, García, AG: Kramer's sampling theorem with discontinuous kernels. Results Math. 34, 197-206 (1998)
- Annaby, MH, Freiling, G, Zayed, Al: Discontinuous boundary-value problems: expansion and sampling theorems. J. Integral Equ. Appl. 16(1), 1-23 (2004)
- 20. Boumenir, A, Zayed, Al: Sampling with a string. J. Fourier Anal. Appl. 8(3), 211-231 (2002)
- Tharwat, MM: Discontinuous Sturm Liouville problems and associated sampling theories. Abstr. Appl. Anal. (2011). doi:10.1155/2011/610232
- 22. Hıra, F, Altınışık, N: Eigenvalue problem with moving discontinuity points. J. Adv. Math. 9(2), 2000-2010 (2014)
- 23. Fulton, CT: Two-point boundary value problems with eigenvalues parameter contained in the boundary conditions. Proc. R. Soc. Edinb. A **77**, 293-308 (1977)
- 24. Altınışık, N, Kadakal, M, Mukhtarov, OS: Eigenvalues and eigenfunctions of discontinuous Sturm Liouville problems with eigenparameter dependent boundary conditions. Acta Math. Hung. **102**(1-2), 159-175 (2004)
- Titchmarsh, EC: Eigenfunctions Expansion Associated with Second Order Differential Equations. Part I, 2nd edn. Oxford University Press, London (1962)
- Levitan, BM, Sargjan, IS: Introduction to Spectral Theory Self-Adjoint Ordinary Differential Operators. Translations of Mathematical Monographs, vol. 39. Am. Math. Soc., Providence (1975)
- 27. Boas, RP: Entire Functions. Academic Press, New York (1954)
- 28. Annaby, MH, Zayed, Al: On the use of Green's function in sampling theory. J. Integral Equ. Appl. 10(2), 117-139 (1998)

doi:10.1186/s13661-014-0237-9

Cite this article as: Hira and Altinişik: Sampling theorems for Sturm-Liouville problem with moving discontinuity points. *Boundary Value Problems* 2014 2014:237.

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- ► Convenient online submission
- ► Rigorous peer review
- Immediate publication on acceptance
- ▶ Open access: articles freely available online
- ► High visibility within the field
- ▶ Retaining the copyright to your article

Submit your next manuscript at > springeropen.com